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£t 72. 950 37.3 26.8




= Y oxin Y
T 5 wHoOH MK
PRAE 5
W LR ) ) o=
(m) vV A \%
NO. 2 0. 000 0.5 - .3 -
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NO. 0. 000 0.28 - 0.38 -
NO. 13. 600 0. 46 .03 0.26 4.35
NO. 26. 400 0.29 .90 0.33 7.79
NO. 11. 600 0.28 .31 0.47 4. 64
NO. 11. 900 0.25 .15 0.29 4.52
NO. 14. 500 0. 00 .81 0. 00 2. 10
78. 000 23.20 23. 40
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(m) A v A v L A
NO. 0. 000 0.02 - 0.02 - 3. 97 -
NO. 13. 600 0.02 0.27 0. 06 0.54 3.90 53.52
NO. 26. 400 0. 05 0.92 0.02 1. 06 3.83 102. 04
NO. 11. 600 0.09 0.81 0.03 0.29 3. 86 44. 60
NO. 11.900 0. 08 1.01 0.04 0.42 3.81 45. 64
NO. 14. 500 0.00 0. 58 0.07 0. 80 3. 24 51.11
78. 000 3.59 3.11 296. 91




